)

3

4)

®)

(6)

N

8

@

45 =

49 =

42 -

88 -

83 =

88 -

82 =

82 =

60 =

08 -

39 =

20 =

40 -

(20

@n

(22)

(23)

24)

(25)

(26)

@7

(28)

29

(30)

3N

(32)

82 -

84 -

79 =

70 =

36 =

59 =

87 -

68 -

33 =

88 -

72 =




@

)

4

®)

©)

N

®

@

31

45 =

49 =

42 =

88 -

83 -

88 -

81

82 -

82 -

60 -

08 -

31

39 =

20 =

40 =

2HT -1 HIR DAY (BEXK)

9 = 3
8= 5
=7 =7
6= 7
=3 =29
+ 8 =10
=7 =12
+ 3 = 27
T4 = 13
+ 2 = 4
=3 =20
+ 9 = 10
+ 8 = 3
5 =7
9 =2
+ 2 = 20

20

@n

(22)

(23)

24)

(25)

(26)

@n

(28)

29

€]

3D

(32)

82 -

84 -

79 -

98 -

83 -

91

o1

70 =

36 -

59 -

87 -

68 -

33 =

88 -

72 =



